

Werk

Label: Article

Jahr: 1975

PURL: https://resolver.sub.uni-goettingen.de/purl?31311157X_0100|log15

Kontakt/Contact

Digizeitschriften e.V.
SUB Göttingen
Platz der Göttinger Sieben 1
37073 Göttingen

✉ info@digizeitschriften.de

ALMOST PERIODICITY OF SOLUTIONS OF THE EQUATION
 $x'(t) = A(t)x(t)$ WITH UNBOUNDED COMMUTING OPERATORS

VLADIMÍR LOVICAR, Praha

(Received September 24, 1973)

The aim of this paper is to obtain sufficient conditions for almost periodicity of all solutions of the equation

$$(1) \quad x'(t) = A(t)x(t), \quad x(0) = x_0,$$

in a Banach space B under the main assumption that $(A(t); t \in R)$ (in all paper R is the real line and $R^+ = (t \in R; t \geq 0)$) is a commuting system of operators in B . Before obtaining this result (Theorem 2), general questions concerning solutions of the equation (1) and some elementary properties of commuting (unbounded) operators are considered.

All Banach spaces in this paper are supposed complex, semigroup (group) of operators in a Banach space always means strongly continuous semigroup (group) of operators. All notations are standard (see e.g. [1]), except the notions of q -operator, S -operator and G -operator (Definitions 1 and 3), which are introduced only in order to simplify the formulation of assertions in this paper.

Let B be a Banach space and let A be a linear operator in B . We shall denote by $D(A)$ and $R(A)$ the domain (which is supposed non empty) and the range, respectively, of the operator A . If A is an injective operator, the operator A^{-1} may be defined by

$$D(A^{-1}) = R(A),$$

$$A^{-1}x = y \quad \text{for } x \in D(A^{-1}), \quad \text{where } y \text{ is such that } x = Ay.$$

It is clear that $R(A^{-1}) = D(A)$. Further it may be easily seen that the following lemma holds:

Lemma 1. Let A_1, A_2 be linear operators in a Banach space B such that

1. $D(A_2) \supset R(A_1)$;
2. $R(A_2) \subset D(A_1)$;

3. $A_2 A_1 x = x$ for $x \in D(A_1)$;

4. $A_1 A_2 x = x$ for $x \in D(A_2)$.

Then A_1 is an injective operator and $A_1^{-1} = A_2$.

We shall denote by $\varrho(A)$ the set of regular points of the operator A , i.e., $\varrho(A) = \{\lambda \in C; (\lambda E - A)^{-1} \text{ is bounded and everywhere defined}\}$ (here C denotes the complex plane and E the identity on B). For $\lambda \in \varrho(A)$ the operator $(\lambda E - A)^{-1}$ is denoted by $R(\lambda, A)$. It may be easily seen that $\varrho(A)$ is an open subset of C .

Definition 1. Let A be a linear operator in a Banach space B . We shall say that A is a q -operator if $\varrho(A) \neq \emptyset$.

Lemma 2. Let A be an injective q -operator in a Banach space B . Then A^{-1} is also a q -operator.

Proof. Since $\varrho(A)$ is a nonempty open subset of C , there exists $\lambda \in \varrho(A)$, $\lambda \neq 0$. Let us prove that $\lambda^{-1} \in \varrho(A^{-1})$ and $R(\lambda^{-1}, A^{-1}) = -\lambda A R(\lambda, A) = \lambda E - \lambda^2 R(\lambda, A)$. Indeed, let S denote the operator $-\lambda A R(\lambda, A)$. Then the operator S is bounded and everywhere defined (hence $D(S) = B \supset R(\lambda^{-1} E - A^{-1})$) and $R(S) \subset R(A) = D(\lambda^{-1} E - A^{-1})$. Further, for $x \in D(\lambda^{-1} E - A^{-1})$ we have $S(\lambda^{-1} E - A^{-1})x = (\lambda E - \lambda^2 R(\lambda, A))\lambda^{-1}x + \lambda R(\lambda, A)x = x$. Finally, for $x \in D(S)$ it holds $(\lambda^{-1} E - A^{-1})Sx = (\lambda^{-1} E - A^{-1})(-\lambda A)R(\lambda, A)x = (-A + \lambda E)R(\lambda, A)x = x$. The assertion of the Lemma follows from Lemma 1.

Definition 2. Let A_1, A_2 be q -operators in a Banach space B . We shall say that the operators A_1, A_2 commute (or that A_1 commutes with A_2) if for any $\lambda_1 \in \varrho(A_1)$, $\lambda_2 \in \varrho(A_2)$ it holds $R(\lambda_1, A_1)R(\lambda_2, A_2) = R(\lambda_2, A_2)R(\lambda_1, A_1)$. We shall say that $(A_j; j \in M)$ is a commuting system of operators if for any $j \in M$, A_j is a q -operator and A_j commutes with A_k for $j, k \in M$.

Note. It may be easily seen that bounded everywhere defined operators A_1, A_2 commute in the sense of Definition 2 iff $A_1 A_2 = A_2 A_1$.

Lemma 3. Let A_1, A_2 be q -operators in a Banach space B . Let there exist $\lambda_1 \in \varrho(A_1)$ and $\lambda_2 \in \varrho(A_2)$ such that $R(\lambda_1, A_1)$ commutes with $R(\lambda_2, A_2)$. Then the operators A_1, A_2 commute.

Proof. Let $\mu_1 \in \varrho(A_1)$. Then the operator $S = (\mu_1 E - A_1)R(\lambda_1, A_1) = (\mu_1 - \lambda_1)R(\lambda_1, A_1) + E$ is a bounded operator with bounded inverse $S^{-1} = (\lambda_1 E - A_1)R(\mu_1, A_1) = (\lambda_1 - \mu_1)R(\mu_1, A_1) + E$. The operator $R(\lambda_2, A_2)$ commutes with the operator S and hence $R(\lambda_2, A_2)$ commutes also with the operator S^{-1} . This implies immediately that the operator $R(\lambda_2, A_2)$ commutes with $R(\mu_1, A_1)$ for any $\mu_1 \in \varrho(A_1)$. By similar calculation it may be shown that $R(\mu_1, A_1)$ commutes with $R(\mu_2, A_2)$ for any $\mu_1 \in \varrho(A_1)$ and $\mu_2 \in \varrho(A_2)$.

Lemma 4. Let A_1, A_2 be q -operators in a Banach space B and let A_1 be injective. Then the following conditions are equivalent:

1. A_1 commutes with A_2 .
2. A_1^{-1} commutes with A_2 .

Proof. The assertion follows immediately from the proof of Lemma 2 and from Lemma 3.

Lemma 5. Let A_1, A_2 be q -operators in a Banach space B . Then the following conditions are equivalent:

1. A_1 commutes with A_2
2. For any $\lambda \in \varrho(A_1)$ and $x \in D(A_2)$ it is $R(\lambda, A_1)x \in D(A_2)$ and $A_2R(\lambda, A_1)x = R(\lambda, A_1)A_2x$.
3. There exists $\lambda \in \varrho(A_1)$ such that for any $x \in D(A_2)$ it holds $R(\lambda, A_1)x \in D(A_2)$ and $A_2R(\lambda, A_1)x = R(\lambda, A_1)A_2x$.

Proof. 1 \rightarrow 2: Let $\mu \in \varrho(A_2)$ and $x \in D(A_2)$. Then $x = R(\mu, A_2)y$ for some $y \in B$ and hence for any $\lambda \in \varrho(A_1)$ it holds $R(\lambda, A_1)x = R(\lambda, A_1)R(\mu, A_2)y = R(\mu, A_2)R(\lambda, A_1)y$. From this we obtain $R(\lambda, A_1)x \in D(A_2)$ and further $A_2R(\lambda, A_1)x = A_2R(\mu, A_2)R(\lambda, A_1)y = (\mu R(\mu, A_2) - E)R(\lambda, A_1)y = R(\lambda, A_1) \cdot (\mu R(\mu, A_2) - E)y = R(\lambda, A_1)A_2x$.

3 \rightarrow 1: Let $\mu \in \varrho(A_2)$ and $y \in B$. Then for $x = R(\mu, A_2)y \in D(A_2)$ we have $(\mu E - A_2)R(\lambda, A_1)x = R(\lambda, A_1)(\mu E - A_2)x$ and hence $(\mu E - A_2)R(\lambda, A_1) \cdot R(\mu, A_2)y = R(\lambda, A_1)y$. From this it follows that $R(\lambda, A_1)R(\mu, A_2)y = R(\mu, A_2) \cdot R(\lambda, A_1)y$ and A_1 commutes with A_2 by Lemma 3.

Lemma 6. Let A_1, A_2 be q -operators in a Banach space B and let A_2 be bounded (everywhere defined). Then the following conditions are equivalent:

1. A_1 commutes with A_2 .
2. For any $x \in D(A_1)$ it is $A_2x \in D(A_1)$ and $A_1A_2x = A_2A_1x$.

Proof. 1 \rightarrow 2: It is clear that A_1 commutes with $\lambda E - A_2$ for any $\lambda \in C$. For sufficiently large λ , the operator $R(\lambda, A_2)$ exists, $0 \in \varrho(R(\lambda, A_2))$ and $R(0, R(\lambda, A_2)) = A_2 - \lambda E$. By Lemma 4, the operator A_1 commutes with $R(\lambda, A_2)$ and so by Lemma 5 for any $x \in D(A_1)$ it is $(A_2 - \lambda E)x \in D(A_1)$ and $A_1(A_2 - \lambda E)x = (A_2 - \lambda E)A_1x$, i.e. $A_2x \in D(A_1)$ and $A_1A_2x = A_2A_1x$.

2 \rightarrow 1: This implication follows immediately from the proof of 1 \rightarrow 2, because all implications used in 1 \rightarrow 2 are actually equivalences.

Lemma 7. Let A be a q -operator in a Banach space B . Further, let A_1 be a linear operator in B defined on $D(A)$ and such that for some $\lambda \in \varrho(A)$ the operator $A_1R(\lambda, A)$

is a bounded operator and $A_1 R(\lambda, A) x = R(\lambda, A) A_1 x$ for $x \in D(A)$. Then the operator $A_1 R(\mu, A)$ is bounded for $\mu \in \varrho(A)$ and $A_1 R(\mu, A) x = R(\mu, A) A_1 x$ for $\mu \in \varrho(A)$ and $x \in D(A)$. Moreover, for sufficiently small $\varepsilon > 0$ the operator $A + \varepsilon A_1$ is a q -operator which commutes with A .

Proof. For $\mu \in \varrho(A)$ we have $A_1 R(\mu, A) = A_1 R(\lambda, A) + (\lambda - \mu) A_1 R(\lambda, A)$. $R(\mu, A)$ and hence $A_1 R(\mu, A)$ is a bounded operator. Further we have for $x \in D(A)$ $A_1 R(\mu, A) x = A_1 R(\lambda, A) x + (\lambda - \mu) A_1 R(\lambda, A) R(\mu, A) x$, $R(\mu, A) A_1 x = R(\lambda, A) A_1 x + (\lambda - \mu) R(\lambda, A) R(\mu, A) A_1 x$ which implies $(E - (\lambda - \mu) R(\lambda, A)) \cdot (A_1 R(\mu, A) x - R(\mu, A) A_1 x) = 0$; the operator $E - (\lambda - \mu) R(\lambda, A) = (\mu E - A) R(\lambda, A)$ is injective and hence $A_1 R(\mu, A) x = R(\mu, A) A_1 x$ for $x \in D(A)$ and $\mu \in \varrho(A)$.

Let $\varepsilon < (|A_1 R(\lambda, A)|)^{-1}$. Then the operator $(E - \varepsilon A_1 R(\lambda, A))^{-1}$ exists and is bounded. Let us denote $S = R(\lambda, A) (E - \varepsilon A_1 R(\lambda, A))^{-1}$. Then we have $D(S) \supset D(A)$, $R(S) \subset D(A)$, $(\lambda E - A - \varepsilon A_1) S x = (\lambda E - A - \varepsilon A_1) R(\lambda, A) x$. $(E - \varepsilon A_1 R(\lambda, A))^{-1} x = x$ for $x \in D(S)$ and $S(\lambda E - A - \varepsilon A_1) x = R(\lambda, A) x$. $(E - \varepsilon A_1 R(\lambda, A))^{-1} (E - \varepsilon A_1 R(\lambda, A)) (\lambda E - A) x = x$ for $x \in D(A)$. This means by Lemma 1 that the operator $A + \varepsilon A_1$ is a q -operator. Further we have $(\lambda E - A - \varepsilon A_1) (R(\lambda, A + \varepsilon A_1) R(\lambda, A) - R(\lambda, A) R(\lambda, A + \varepsilon A_1)) = R(\lambda, A) - R(\lambda, A + \varepsilon A_1) + \varepsilon R(\lambda, A) A_1 R(\lambda, A + \varepsilon A_1) = R(\lambda, A) - R(\lambda, A + \varepsilon A_1) + R(\lambda, A)$. $(-E + (\lambda E - A) R(\lambda, A + \varepsilon A_1)) = 0$ and hence the operator $A + \varepsilon A_1$ commutes with A .

Lemma 8. Let A be a q -operator in a Banach space B . Further let A_1, A_2 be linear operators in B defined on $D(A)$ such that for some $\lambda_j \in \varrho(A)$ the operators $A_j R(\lambda_j, A)$ are bounded and $A_j R(\lambda_j, A) x = R(\lambda_j, A) A_j x$ for $x \in D(A)$ ($j = 1, 2$). Finally let the operators $A_1 R(\lambda_1, A), A_2 R(\lambda_2, A)$ commute. Then for sufficiently small $\varepsilon > 0$, $(A + \varepsilon A_1, A + \varepsilon A_2, A)$ forms a commuting system of operators.

Proof. It follows from Lemma 7 that for sufficiently small $\varepsilon > 0$ the operators $A + \varepsilon A_j$ are q -operators which commute with A . It suffices to prove that the operators $A + \varepsilon A_1, A + \varepsilon A_2$ commute but this follows immediately from the relations $R(\lambda_1, A + \varepsilon A_1) = R(\lambda_1, A) (E - \varepsilon A_1 R(\lambda_1, A))^{-1}$, $R(\lambda_2, A + \varepsilon A_2) = R(\lambda_2, A) \cdot (E - \varepsilon A_2 R(\lambda_2, A))^{-1}$.

Definition 3. Let A be a linear operator in a Banach B . We shall say that the operator A is an S -operator (G -operator) if A generates a strongly continuous semigroup (group) of operators in B .

It is clear that any S -operator is a q -operator. If A is an S -operator, we shall denote by $T(A) = (T(A, t); t \in \mathbb{R}^+)$ the semigroup of operators generated by A . On the other hand, by $A(T)$ the generator of the semigroup of operators $T = (T(t); t \in \mathbb{R}^+)$ is denoted.

Lemma 9. *Let A_1, A_2 be commuting q -operators in a Banach space B . Moreover, let A_2 be an S -operator. Then the closure of the operator $A_1 \mid D(A_1) \cap D(A_2)$ equals A_1 .*

Proof. We have to prove that for any $x \in D(A_1)$ there exists a sequence $(x_n; n \in N) \subset D(A_1) \cap D(A_2)$ such that $x = \lim x_n$ and $A_1 x = \lim A_1 x_n$. Let $(\lambda_n; n \in N)$ be a sequence of positive numbers such that $R(\lambda_n, A_2)$ exists for $n \in N$ and $\lambda_n \rightarrow +\infty$ for $n \rightarrow \infty$. It is very well known that $y = \lim \lambda_n R(\lambda_n, A_2) y$ for any $y \in B$. Now let $x \in D(A_1)$ be given. We obtain from Lemma 5 that for any $n \in N$ it is $x_n = \lambda_n R(\lambda_n, A_2) x \in D(A_1) \cap D(A_2)$, $A_1 x_n = \lambda_n R(\lambda_n, A_2) A_1 x$ and $x = \lim x_n$, $A_1 x = \lim A_1 x_n$ by the above.

Lemma 10. *Let A_1 be a q -operator and let A_2 be an S -operator in a Banach space B . Then the following conditions are equivalent:*

1. A_1 commutes with A_2 .
2. $R(\lambda, A_1)$ commutes with $T(A_2, t)$ for any $\lambda \in \varrho(A_1)$ and $t \in R^+$.
3. There exists $\lambda \in \varrho(A_1)$ such that $R(\lambda, A_1)$ commutes with $T(A_2, t)$ for any $t \in R^+$.

Proof. $1 \rightarrow 2$: Let $\lambda \in \varrho(A_1)$ and $t \in R^+$. Further let $(\mu_n; n \in N)$ be a sequence of positive numbers such that $R(\mu_n, A_2)$ exist for $n \in N$ and $\lim \mu_n = +\infty$. For any $x \in B$ we have $T(A_2, t) x = \lim_{n \in N} \exp(-t\mu_n(E - \mu_n R(\mu_n, A_2))) x$ and since the operators $R(\lambda, A_1)$, $\exp(-t\mu_n(E - \mu_n R(\mu_n, A_2)))$ commute, it holds $R(\lambda, A_1) T(A_2, t) x = \lim_{n \in N} \exp(-t\mu_n(E - \mu_n R(\mu_n, A_2))) R(\lambda, A_1) x = T(A_2, t) R(\lambda, A_1) x$ for $x \in B$.

$3 \rightarrow 1$: Let μ be a sufficiently large positive number. Then the operator $R(\mu, A_2)$ exists and $R(\mu, A_2) x = \int_0^\infty e^{-\mu t} T(A_2, t) x dt$ for $x \in B$. Hence we have for any $x \in B$ $R(\lambda, A_1) R(\mu, A_2) x = \int_0^\infty e^{-\mu t} R(\lambda, A_1) T(A_2, t) x dt = \int_0^\infty e^{-\mu t} T(A_2, t) R(\lambda, A_1) x dt = R(\mu, A_2) R(\lambda, A_1) x$ and the operators A_1, A_2 commute by Lemma 3.

Definition 4. Let T_1, T_2 be semigroups of operators in a Banach space B . We shall say that T_1, T_2 commute (or that T_1 commutes with T_2) if for any $t, s \in R^+$, $T_1(t)$ commutes with $T_2(s)$.

Lemma 11. *Let A_1, A_2 be S -operators in a Banach space B . Then the following conditions are equivalent:*

1. A_1 commutes with A_2 .
2. $T(A_1)$ commutes with $T(A_2)$.

Proof. $1 \rightarrow 2$: The operator $R(\lambda, A_1)$ commutes with $T(A_2, t)$ ($\lambda \in \varrho(A_1)$, $t \in R^+$) by Lemma 10. If we repeat once more the procedure from the proof of implication $1 \rightarrow 2$ of Lemma 10, we obtain that the operators $T(A_1, t), T(A_2, s)$ commute for $t, s \in R^+$.

2 \rightarrow 1: Let λ be a sufficiently large positive number. Then $\lambda \in \varrho(A_1)$ and for any $x \in B$ it is $R(\lambda, A_1)x = \int_0^\infty e^{-\lambda s} T(A_1, s)x \, ds$. This implies for $t \in \mathbb{R}^+$ and $x \in B$ $R(\lambda, A_1) T(A_2, t)x = \int_0^\infty e^{-\lambda s} T(A_1, s) T(A_2, t)x \, ds = \int_0^\infty e^{-\lambda s} T(A_2, t) T(A_1, s)x \, ds = T(A_2, t) R(\lambda, A_1)x$ and hence A_1 commutes with A_2 by Lemma 10.

Lemma 12. *Let A_1, A_2 be commuting S-operators in a Banach space B . Further let us set $T(t) = T(A_1, t) T(A_2, t)$ ($t \in \mathbb{R}^+$). Then $T = (T(t); t \in \mathbb{R}^+)$ is a semigroup of operators in B and $A(T)$ equals the closure of the operator $A_1 + A_2$.*

Proof. It is clear that T is a semigroup of operators in B . Further we have $A(T)x = \lim_{t \rightarrow 0^+} t^{-1}(T(t)x - x) = \lim_{t \rightarrow 0^+} (T(A_2, t)(t^{-1}(T(A_1, t)x - x)) + t^{-1}(T(A_2, t)x - x)) = A_1x + A_2x$ for $x \in D(A_1) \cap D(A_2)$. Hence it is sufficient to show that for some $\lambda \in \varrho(A(T))$ the set $(\lambda E - A_1 - A_2)(D(A_1) \cap D(A_2))$ is dense in B . Since $T, T(A_1), T(A_2)$ is a commuting system of semigroups of operators, we have $R(\lambda, A(T)) \cdot R(\mu, A_1) R(\mu, A_2) = R(\mu, A_1) R(\mu, A_2) R(\lambda, A(T))$ ($\lambda \in \varrho(A(T)), \mu \in \varrho(A_1) \cap \varrho(A_2)$) by Lemma 11. This implies that for any $x \in B$ it is $y = \mu^2 R(\lambda, A(T)) R(\mu, A_1) \cdot R(\mu, A_2)x \in D(A_1) \cap D(A_2)$ and $(\lambda E - A_1 - A_2)y = \mu^2 R(\mu, A_1) R(\mu, A_2)x$. Since $\lim_{\mu \rightarrow +\infty} \mu^2 R(\mu, A_1) R(\mu, A_2)x = x$ for any $x \in B$, the set $(\lambda E - A_1 - A_2)(D(A_1) \cap D(A_2))$ is dense in B .

Lemma 13. (Lumer G. - Phillips R. S.) *Let A be a closed linear operator in a Banach space B , $\text{cl}(D(A)) = B$. Further let J be the duality mapping on B , i.e. $Jx = (x^* \in B^*; (x, x^*) = |x|^2, |x| = |x^*|)$. Then the following conditions are equivalent:*

1. *The operator A is a G-operator for which $|T(A, t)| \leq e^{\omega|t|}$ for $t \in \mathbb{R}$.*
2. *$|\text{Re}(Ax, Jx)| \leq \omega|x|^2$ for $x \in D(A)$ and there exist $\lambda_1, \lambda_2 \in \varrho(A)$ such that $\text{Re } \lambda_1 < -\omega < +\omega < \text{Re } \lambda_2$.*

Proof. This Lemma is an easy modification of Lumer-Phillips Theorem (see e.g. [1]).

Lemma 14. *Let A be an S-operator in a Banach space B and let $s \in \mathbb{R}^+$. Then the operator sA is an S-operator and it holds $T(sA, t) = T(A, st)$ for $t \in \mathbb{R}^+$. If A is a G-operator, then sA is a G-operator for $s \in \mathbb{R}$ and $T(sA, t) = T(A, st)$ for $t \in \mathbb{R}$.*

Lemma 15. *Let A be a G-operator in a Banach space B for which $|T(A, t)| \leq e^{\omega|t|}$ for $t \in \mathbb{R}$. Further, let A_1 be a linear operator in B defined on $D(A)$ and such that $|\text{Re}(A_1x, Jx)| \leq \omega_1|x|^2$ for $x \in D(A)$. Finally let there exist $\lambda \in \varrho(A)$ such that $A_1R(\lambda, A)$ is a bounded operator and $A_1R(\lambda, A)x = R(\lambda, A)A_1x$ for $x \in D(A)$. Then the closure \bar{A}_1 of the operator A_1 is a G-operator and $T(\bar{A}_1)$ commutes with $T(A)$.*

Proof. Let $\operatorname{Re} \lambda_1 < -\omega < \omega < \operatorname{Re} \lambda_2$. Then we have by Lemma 7 that for sufficiently small $\varepsilon > 0$ $\lambda_1, \lambda_2 \in \varrho(A + \varepsilon A_1)$ ($j = 1, 2$) and hence $A + \varepsilon A_1$ is a G -operator by Lemma 13. Further, $A + \varepsilon A_1$ commutes with A by Lemma 7 and the assertion of the Lemma follows immediately from Lemma 12 and Lemma 14.

Lemma 16. Let linear operators A, A_j ($j = 1, 2$) fulfil the same condition as the operators A, A_1 in Lemma 15. Then the following conditions are equivalent:

1. $T(\bar{A}_1)$ commutes with $T(\bar{A}_2)$.
2. $A_1 R(\lambda, A)$ commutes with $A_2 R(\lambda, A)$ at least for one $\lambda \in \varrho(A)$.

Proof. $1 \rightarrow 2$: It follows easily from Lemmas 7, 11 and 12 that for sufficiently small $\varepsilon > 0$, $(A, A + \varepsilon A_1, A + \varepsilon A_2)$ forms a commuting system of operators and $M = \varrho(A) \cap \varrho(A + \varepsilon A_1) \cap \varrho(A + \varepsilon A_2) \neq \emptyset$. Let $\lambda \in M$. Then by Lemma 5 for any $x \in D(A)$ it holds $AR(\lambda, A + \varepsilon A_1)x = R(\lambda, A + \varepsilon A_1)Ax$ and this easily implies that the operators $(\lambda E - A)R(\lambda, A + \varepsilon A_1)$, $(\lambda E - A)R(\lambda, A + \varepsilon A_2)$ commute. Hence also the operators $((\lambda E - A)R(\lambda, A + \varepsilon A_1))^{-1} = E - \varepsilon A_1 R(\lambda, A)$ and $((\lambda E - A)R(\lambda, A + \varepsilon A_2))^{-1} = E - \varepsilon A_2 R(\lambda, A)$ commute.

$2 \rightarrow 1$: This implication follows easily from Lemma 8 and 12.

Lemma 17. Let A be a G -operator in a Banach space B for which $|T(A, t)| \leq e^{\omega|t|}$ for $t \in \mathbb{R}$. Further let M be a directed set and let $(A(j); j \in M)$ be a system of linear operators in B defined on $D(A)$ with the following properties:

1. $|\operatorname{Re}(A(j)x, Jx)| \leq \omega_1|x|^2$ for $x \in D(A)$;
2. There exists $\lambda \in \varrho(A)$ such that $A(j)R(\lambda, A)$ is a bounded operator for $j \in M$;
3. $A(j)R(\lambda, A)x = R(\lambda, A)A(j)x$ for $j \in M$ and $x \in D(A)$;
4. $A(j)R(\lambda, A)$ commutes with $A(k)R(\lambda, A)$ for $j, k \in M$;
5. For any $x \in D(A)$ there exists $\lim_{j \in M} A(j)x = A_1x$.

Then the closure \bar{A}_1 of the operator A_1 is a G -operator, $(\bar{A}_1, \overline{A(j)} (j \in M), A)$ forms a commuting system of operators and $T(\bar{A}_1, t)x = \lim_{j \in M} T(\overline{A(j)}, t)x$ for $x \in B$ and $t \in \mathbb{R}$.

Proof. It follows from Lemma 16 that the operator $\overline{A(j)} (j \in M)$ is a G -operator for which $|T(\overline{A(j)}, t)| \leq e^{\omega_1|t|}$ for $t \in \mathbb{R}$ and $(A, \overline{A(j)} (j \in M))$ forms a commuting system of operators.

Let us prove that the operators A, A_1 fulfil the conditions of Lemma 15. For any $x \in D(A)$ and $x^* \in Jx$ it is $|\operatorname{Re}(A_1x, x^*)| = \lim_{j \in M} |\operatorname{Re}(A(j)x, x^*)| \leq \omega_1|x|^2$. Further it holds $A_1R(\lambda, A)x = \lim_{j \in M} A(j)R(\lambda, A)x$ for any $x \in B$ and hence the operator $A_1R(\lambda, A)$ is bounded. Since $A(j)R(\lambda, A)x = R(\lambda, A)A(j)x$ for any $j \in M$ and $x \in D(A)$, we have $A_1R(\lambda, A)x = R(\lambda, A)A_1x$ for $x \in D(A)$. Hence, by Lemma 15, the closure \bar{A}_1 of the operator A_1 is a G -operator and \bar{A}_1 commutes with A .

Since $A(j) R(\lambda, A)$ commutes with $A(k) R(\lambda, A)$ for $j, k \in M$, we easily obtain that $A_1 R(\lambda, A)$ commutes with $A(j) R(\lambda, A)$ for $j \in M$ and hence, by Lemma 16, \bar{A}_1 commutes with $\overline{A(j)}$ for $j \in M$.

We have further for $x \in D(A)$ $|T(\bar{A}_1, t)x - T(\overline{A(j)}, t)x| = |T(\overline{A(j)}, t)| \cdot |(T(\bar{A}_1 - A(j)), t)x - x| \leq e^{\omega_1|t|} |\int_0^t T(\bar{A}_1 - A(j), s)(A_1 - A(j))x ds| \leq k(\omega_1, t) \cdot |A_1 x - A(j)x|$ and hence $T(\bar{A}_1, t)x = \lim_{j \in M} T(\overline{A(j)}, t)x$ for $x \in D(A)$. Since the operators $T(A(j), t)$ are bounded uniformly with respect to $j \in M$, we obtain that $T(\bar{A}_1, t)x = \lim_{j \in M} T(\overline{A(j)}, t)x$ for $x \in B$.

Theorem 1. Let $A, A(t) (t \in R)$ be a commuting system of G -operators in a Banach space B for which $|T(A, t)| \leq e^{\omega_1|t|}$, $|T(A(s), t)| \leq e^{\omega_1|t|}$ for $t, s \in R$. Further let $D(A(t)) \supset D(A)$ for $t \in R$ and let the function $t \rightarrow A(t)x$ be continuous for $x \in D(A)$. Let us define for $t, s \in R$ the operator $C(t, s)$ by: $C(t, s)x = \int_s^t A(r)x dr$ ($x \in D(A)$). Then the closure $\int_s^t A(r) dr$ of the operator $C(t, s)$ is a G -operator for $t, s \in R$. Let us denote further

$$\mathcal{T}(t, s) = T\left(\int_s^t A(r) dr, 1\right) \quad (t, s \in R)$$

Then it holds:

1. $\mathcal{T}(t, s) (t, s \in R)$ is a commuting system of operators.
2. $|\mathcal{T}(t, s)| \leq e^{\omega_1|t-s|}$ for $t, s \in R$.
3. The function $(t, s) \rightarrow \mathcal{T}(t, s)x$ is continuous on $R \times R$ for any $x \in B$.
4. $\mathcal{T}(t, t) = E$, $\mathcal{T}(t, s)\mathcal{T}(s, r) = \mathcal{T}(t, r)$ for $t, s, r \in R$.
5. The function $t \rightarrow \mathcal{T}(t, s)x$ is continuously differentiable for $x \in D(A)$ and

$$\frac{d}{dt} \mathcal{T}(t, s)x = A(t)\mathcal{T}(t, s)x \quad (t \in R).$$

Proof. First, let us prove that $A(t) R(\lambda, A)$ is a bounded operator for $t \in R$ and $\lambda \in \rho(A)$. Since the operator $A(t) R(\lambda, A)$ is everywhere defined, it suffices to prove that it is closed. Let $x_n \rightarrow x$, $A(t) R(\lambda, A) x_n \rightarrow y$. Then $y_n = R(\lambda, A) x_n \in D(A(t))$, $y_n \rightarrow R(\lambda, A)x$ and $A(t) y_n \rightarrow y$ and hence $A(t) R(\lambda, A)x = y$ since the operator $A(t)$ is closed.

The set $(A(t) R(\lambda, A)x; t \in \langle a, b \rangle)$ is bounded for any compact set $\langle a, b \rangle \subset R$ and hence there exists a constant $k(a, b) < +\infty$ such that $|A(t) R(\lambda, A)| \leq k(a, b)$ for $t \in \langle a, b \rangle$. This easily implies that $C(t, s) R(\lambda, A)$ is a bounded operator for $t, s \in R$. It is also clear that $C(t, s) R(\lambda, A)x = R(\lambda, A) C(t, s)x$ for $x \in D(A)$. It follows from Lemma 15 that the closure $\int_s^t A(r) dr$ of the operator $C(t, s)$ is a G -operator for $t, s \in R$.

It is easy to see that by Lemma 16 $A, A(t) (t \in R), \int_s^t A(r) dr (t, s \in R)$ form a commuting system of operators which implies the assertion 1 of the Lemma. Lemma 13

implies the assertion 2 of the Theorem. The assertion 3 follows from Lemma 17. The assertion 4 follows easily from the relation $C(t, s) + C(s, r) = C(t, r)$ ($t, s, r \in R$). Hence it suffices to prove the validity of the assertion 5.

First let us notice that if A_1, A_2 are commuting G -operators then for $t \in R$ and $x \in D(A_1)$ it is $T(A_2, t)x \in D(A_1)$ and $A_1 T(A_2, t)x = T(A_2, t)A_1x$ (Lemma 10).

Let $x \in D(A)$. Then we have $\lim_{h \rightarrow 0} h^{-1}(\mathcal{T}(t+h, s)x - \mathcal{T}(t, s)x) = \lim_{h \rightarrow 0} h^{-1}(T(\int_s^{t+h} A(r) dr, 1)x - T(\int_s^t A(r) dr, 1)x) = \mathcal{T}(t, s) \lim_{h \rightarrow 0} h^{-1}(T(\int_t^{t+h} A(r) dr, 1)x - x) = \mathcal{T}(t, s) \lim_{h \rightarrow 0} h^{-1} \int_0^1 T(\int_t^{t+h} A(r) dr, u) (\int_t^{t+h} A(r)x dr) du = \mathcal{T}(t, s) \cdot A(t)x = A(t)\mathcal{T}(t, s)x$ since $|\int_0^1 T(\int_t^{t+h} A(r) dr, u) (h^{-1} \int_t^{t+h} A(r)x dr) du - A(t)x| \leq |\int_0^1 (T(\int_t^{t+h} A(r) dr, u) - E) A(t)x du| + |\int_0^1 T(\int_t^{t+h} A(r) dr, u) \cdot (h^{-1} \int_t^{t+h} A(r)x dr - A(t)x) du| \rightarrow 0$ for $h \rightarrow 0$.

Definition 5. Let the operators $A, A(t), \mathcal{T}(t, s)$ ($t, s \in R$) in a Banach space B be the same as in Theorem 1. Then the function $t \rightarrow \mathcal{T}(t, s)x$ is said to be a solution of the equation

$$(2) \quad x'(t) = A(t)x(t), \quad x(s) = x.$$

Lemma 18. Let the operators $A, A(t)$ ($t \in R$) in a Banach space B fulfil the assumptions of Theorem 1 and let moreover the function $t \rightarrow A(t)x$ be almost periodic for any $x \in D(A)$. Let A_0 be a linear operator in B defined on $D(A)$ by

$$A_0x = \lim_{t \rightarrow \infty} t^{-1} \int_0^t A(s)x ds, \quad x \in D(A).$$

Then the closure \bar{A}_0 of the operator A_0 is a G -operator and $(A, A(t)$ ($t \in R$), $\int_s^t A(r) dr$ ($t, s \in R$), \bar{A}_0) form a commuting system of operators.

Proof. This Lemma is another easy application of Lemmas 16 and 17.

Theorem 2. Let $A, A(t)$ ($t \in R$) be a commuting system of G -operators in a Banach space B for which $|T(A, t)| \leq e^{\omega|t|}$, $|T(A(s), t)| \leq e^{|\omega_1|t|}$ for $t, s \in R$. Further let $D(A(t)) \supset D(A)$ for $t \in R$ and let the function $t \rightarrow A(t)x$ be almost periodic for any $x \in D(A)$. Let us define the operators $A_0, C(t)$ ($t \in R$) on $D(A)$ by

$$A_0x = \lim_{t \rightarrow \infty} t^{-1} \int_0^t A(s)x ds, \quad C(t)x = \int_0^t A(s)x ds - tA_0x.$$

Finally let us suppose that the following assumptions are fulfilled:

1. The function $t \rightarrow T(\bar{A}_0, t)x$ is almost periodic for any $x \in B$;
2. $|\operatorname{Re}(C(t)x, Jx)| \leq \omega_2|x|^2$ for some $\omega_2 > 0$ and for $t \in R, x \in D(A)$;
3. the function $t \rightarrow C(t)x$ is almost periodic for any $x \in D(A)$.

Then all solutions of the equation (2) are almost periodic.